OO0ooNnNoooooooo20130000

2013-06-04 OOODOOODOODO

000006/700000000000000D0O0O0O0DDOOODOOODOOOOOOOOOOOOOOODOOOOOOOOOO
0000000000000000000000000000000000000000000000000(@
goooooooooooooooooobooooooooooOooboboOoOooOoooOooObobOOOoooOoOoDOOobOOoOoboOoooOoDOon
ooooooooooooooooOooboOoooooOooOOobOOOOoOoOoOoOObOoOOoboOooDoDOObo

]DDDDDDDDD\
0000000000000000000000*00
(40.1)000 (40.2) 00000

Dv

Por = Fopo —gradp + pAv (40.1")

divv =0 (40.2)

00000000 (40.1") O Navier—Stokes 00 00
00000000 (40.1) 00000000000 KO
O0O00O0oooooooo Fgp =pKOOOOOO
Jdodooooooooooboboboboboobooboooon

dooooooooooobbbbboooogog
O0000Navier-Stokes 00000000000 0OOO
gobooodvooob poobboobooboobg
gobodgobooobbooobbuooobboo
goboobbooboobobuooboboobboooobg
gooooobobooboboobooboobooboo
000 v=(u,v,w) = (vg,0y,v,) 0000

ooono 1

20000030000000000 (40.1')(40.2)
00000000000

oooo 2

0oddz0y0000000O0O0O0O0O0OOOO
ooooooooooooooooooooooon
gooooooooooOooooooooo

000

0000000000000000 (40.2)00000000

00000000000000 (3.2)00000000000

000000 p0 p0000000D000000D00DO0

00000D000000D000000000000000
p=pRT (ROODODDDOODODOOD)

pooboooooboooOoOoOoOoooTOoO0OobOoOOOO0o
0000000 balance law 000000000000

*0D0000000MOo000 DOooooDOo0oo0oDo 90

0000000000000 000OReynoldsO00O0O
0000000000 0000000000RDOOO Re
00000 D00 0ONavier-Stokes 000 (40.1") O
0000000000 pv-VvOOOOOOOOOOO
OpAvO000000000OOOOODODOOOOO

000000 D=3em 000 00 U=10m/s00
OO00O0O0OQ0OD0OO0OD0O0O0OO0D0OOUOOReynoldsOO

Re — Pwater U D _ (10m/s) (3cm) 3% 10° (+1)
Lhwater 1 x 10-6m?2/s

oooooooooooboooboooooo

Hwater

=1x10"%m?/s (x2)

pwatcr

oooboooooo

0o0ooooOooo 1/ip000000000 1/1000
coooooooooooooooo woo20000
ooooooooooboooobooooooood
OooooOoooooooooogypl86OOOOOO

oooo 3

000000 (x1)0D00O0O0O00O0O0000oog
00000000 ReynoldsOOOOOOO

oooo 4
00000 v=yp/p00000UCOOOOOOO

£=°U"

0000000000000 0000D000000
00000000 (a,b)=(1,-1) 0000000
0000D000D0000D000 £000 Reynolds O
0000000000000

ood

Navier-Stokes 000000 Euler 00000000000
0000000000000000000000000000
oooobooooooooooOooooooOooboOoOoooooo
ooboooooooooooooooobooooobooooo
Navier-Stokes 0 0 0000000000000 O0DOOODO
ooooooooocoooooOooooobooOoooooon
ooooooooooogooo



0000 II0000000020130000

00000000000 balance law
obobobobobooboooooooooooooon
gboobobbobobbbobooobobobobooboo
gboooooogoog

[OO (after)]—[00 (before)] = Z [DOoOoOoO] (x3)

O000000000O0O0O0O0O0OO0OO0OO balance lawO O
gbooooooooooboo

oooo s

0000000 balance law 0000000 OOO
oooooo

0000 balance law OO0 OO0 O0O0OO0O0OOODOOO
coooboobooobobooobooobooobooonog
cooooooobOoboboooooobooooooonDo
O0'00D0000000000000000000g
0000000000000 DO0DO0OD0O0ODOOD4/26
ooooooooooobooboooboooooboooooDog
coooooooooooocoboodoooooooa
0 At000000000000O00O00O00OUOO
0000000000000 0O00O ODEODODOOOO

obooooooOoocoocobobobobooobooo
oooooooboooboobOoooOooooooog
0000000 0000000000000000
cooooobOoooooOODbObOObOOO0OO00O0Oo0a
balancelaw D000 0000000000000 OOO
O00ooooO0ooooooooooooooo “cor O
D0000D0000000D0000D00S0000o0g
cooOooboooooooooooobOooocOooOoDo
gbobooboooboobob 0000 y0OOOOOO
cobooboooobobooooooooOoocOonogona
cooboooooooooooooomoooooog
oooooooooooooboobooooooogooDo
ooobooooooooOooooOooooOooooOoO
oooooooooobOoboboboooooDogoDo
00 balancelaw 0000000000000 0O00OO
OO0 PDEOOOOOO

00000 Navier-Stokes O O00O0O0O0O0OO0ODOO
O000O0Obalancelaw 00 0000000000000

toooo0ooO000I0000000000000000000
go00000bO0bOO0DOO0obO0obDOoDOooOooooon
{DopooDO0DO00ODO0O0DOD0O0DO00DO00ODO0ODn
gooobooboboobobobooboooboo
$000000control surfaced 00000000000 00O0O
god0do0o0oooooooooooooooboooooooooog
JO0oooooo “passport control” 0000000 OOOO

ooooboooocoooooboooooboboOoooooOooa
oboooooooboobobooboboboooooog
oboooooobooboobobooboobobooooood
000000000000 balancelaw 00000000
goobooooobooooobooooooboooooo
0000 T'=T(zt)0O0OOD 10000000 yO 2
oooooooobooooobboo0z0000D000
0O Az, 00 SAz0000000000000O00O0O
0000000000000 00000 balance law O
ocoooo30oooooooooooooooooooo
0000 AzAyA 000000O0OOOO
oobooooboooooooobooboooooooooo
ooooooooooooTooo

[000000000)=[00000000]xT

obooooooooobocoooooooDbbo cOO0O0OO
00000000 epSAz OO0

[00000D0000]=pScTAz

000d0000o0OdoooUooooooog Atdood
00 balance law OO0 00 O00O0DOO0OOOOO0OOODOO
gooboooobobo0o g ooo0oobooooog
gobbooogobbbD z; 0b0bb0bb0o0ogbboo
i1 =x; Az 00000

pScT |, ny Ax — pScT|, Az
=q(zi—1 = x;))SAt + q(xi41 — ;) SAL
=¢q(0)SAt — ¢(0)SAt (x4)

cooboooooboooobooooooo

(I'i—l — 5131)

=4q
q(0) =q(xi = vip1) = —q(wip1 — 74)

000000 (x4) 0000 SAzAtDOOO

CT|t+At - T, _ _‘I(D ) —q(0)
At Ax
oooooooooooo
pcatT = —0z4 (*5)

000030000000 0000o00ooooooa
0000 balancelaw DO O O0O0OO0O0O0O0O

B )+0y(- )+ 0u(-)

gooooooo

000 divergence 00O OODOOO



0000 II0000000020130000

oooQd 6
0O («x4)00000300000000000D0OO0
balance law 000000000000 OODOOOO

pco T = —divg (*6)

00000000000000 q= (g dy,g-) O
000000000MO0000000 yOO00O
00000000 ¢00000000Mm

0 x)0TOg¢O0OOODDODODODOOOOOTOO
ooooboobgOO00obOOobDOobOOoobooooDo
cooboboooobooooooOoooooOooOooobooooo

qg=—X\0,T (x7)

DooooDooooooooYooooo (x5) 00000
O000ooo0o0ooooo0oTOo 100000000

T = k0T (x8)

gobooboobobd

oooo 7

00000 balance law 0000000 (x8) OO
ooooooooooooooooolooooon

oooo 8

000000 (x8)0 3000000D00ODODO
000 000000000000 Navier-Stokes O
oooooooooooooooooooo

oooo 9

000000 balance law 00 0O0p 000000
ooooooooo

dep + Z 9j(pv;) =0 (3:2))

J

oooooo

kap&ﬂamuumuuuu\
Navier-Stokes 0 0 0 (40.1') 00000000000
0000000000000 000O000000 bak

f00o0oDoooDO0DO0ODOOO0O0O0DOOOO0O0OO00000
gooooooooooo
looDoooDODODODOOOOOOOD0O0O00O0000000
gooooooooOOO0OOOOOOO0O0O000O0O0O0000
gooooooooOoOoOOOOOOOOOOO0OO0O0O00000
gboooooooooboooooooooooOooooooo
goooooooooooOoOO.. 000000000000

ance lawd 000000000 DOOOOOOOOODOO
0O AV = AzAyA0000000000000000
00 Am=pAV 000

[I:II:I[I[I[I

J0o00 }:Amv:vaV

ooooooooooobocoooboooboooo

(PV)|t+At AV — (pV)|t AV
=Y [0000D000000000] (+9)

00000000AVOO0O00000000000M
0(x9) 0000000000

coooooooooooao

e JI0OOOODOOOOOOOOODOOODO
e 100DOODOO

coooooooo

ooooooooboooooooooooooo 300
040000000000000O000O0O0COO00O0O
oooooooooom4000000000000O
10000 Euler 000000000 IIOOO Navier—
Stokes 00D O00OOO0OOOOOO 20000000
O*00000000000000000 v-VvOOO
Oo0o0oOoOoOoOO0OO0OOoO0OO0O0O0O Euer0O0O0O0oO0oOoOnQ
oo0oooooooooooOoooooooooo 1o
oooooooooooobooom

000000000000000000000000
0000000000000000000000000
0000000000000 D000000000000
0000000000000000000000000
ooooooooofo000o00000000oooo
00 pO0O00D0D0D0D0D000000O0OO ASOOOO
00000000000000000 nO0000

OU0U0000o0oU0ooooUoOoooAvOeOOOon

oo00o0ob0o0obO0oOoboObOooboOoboboooooo
oooooboobooooboboboobobooboooon

*O00ooOoooooooOoooOooOooOoooOOooOooOooooo
goooooooooooooooOoOoOoOoOoono

HfooDoDD0ODODO0O0OO0000DO0O00O0O0O0000O0O
JodoooooooooooooOoOoO0O0O0O00000000



0000 II0000000020130000

goooooooooo¥oooo

[DO000D000] =—(gradp) AVAE (x11)

oooo

o000 10
0 (x11)000000000

oooo 11

0 (x11)000000000000000000O0
0000000 10000000000000000
oooooo0oooooOo0oO0oOoOooOooOooooo
0000000000000 O00OO0OO0O0O00 (x11)
oooooooocoooooooon

ooooooooooobocOooOooobcboboooooon
oooooooooobOoboboboooooDooDo
00 ASOU0O0O0DOO0O0DOO0OO0OUOOOooooOooo

Txx Txy Txz
AFppg = |[Tys [ n2AS + | Tyy [ nyAS + | Tyz [ nAS
Tza Tzy Tzz

TezNaz + TayTy + TNy

= | TyaNa + TyyNy + Ty | AS

AL + TayNy + T2z

= |Tye Tyy Tyz| |Ny|AS (x12)
TZ$ TZy TZZ nz

000000000000 (x10)00 (x12) 00000
0000000000000000000000000
00000000O00AF,, O AF,p 0000000
0000OpO0 rO0000000000O00C000O0OO
0000000000 (x10)0 pO00 1000000
0000000000000 (x12)03x300000
0000000000000000000000000

oooQg 12

00000 +y 0000000 (2,2) 000000
+y0000000000000000000000
00 (Tay, Ty, Tey) AS 000000000000
00: 0000D0000D000000 (x12) 00
0MO00D0000000000000000O7;
00000000000000000000000
00000000000000000000

HOoOoO0o0D000D0000000000000000000000
gooooooooOoOOOoO0OO0O0O0O00OOO0OO00000000
o0oooooooooooooooooooooooo §300
O000GauO0O00O00OO000DDOOODODOOOOO

oooooO0ooOo0ooOoo0oe0OOObOOOOOO 2
000 (z,y) DDOODDODODODOUOODODODOODDOOOOO
z+Az00000@UOOOOOOOOOOO

[©00D0000000] = AFg

oo0oooo0ooooooo“co”’0ooooomon

[@©0O00o00000O000]=(0,0,+1)
[@ooooooooooo]=(0,0,—1)

000000000 AzAy00000 (x12)00

AFg =+ (Tzz,Tyz,Tzz)‘Z+AzAl’Ay

AF@ = — (Toz, Tyz, Toz)|, AxAy

gobodbobooboobboobogybbg
(AFg + AFg), At

_ (Tyz|Z+AZ - Tyz|z) AzAyAt

I B NN SN IO
Az 0z

Oo00ooO0o0ooo0ooooUoooooooon
gooooooooo 3ooooopoooooopoo

ooooo 0j7a;
D005 =3 |oms | avae (+13)
i 05Tz

0000000 Y. 0j=2,4,20000000000

oooo 13

0 (x13)000000000000000000ODO
0> oooooo

ood

2000000000 (DODOoDOObOOObDOD)DOOD
0000o00oooooooooooUooooooooo “o
00ooooooooooo”»0o00ooooooooooo
gbobooobooboobooobobooboboooboboooboo
gboboobobobooboobooboobooooobooobooobooon
gbobooboobobd 00 y00000000 ze000yy 0O
U0zyOOOyzOODOOOOOOOOOOODOODOOOOO
O0000000U00o0oo0oo0oouUnD §43000M™

gooboboooobbooobboobobooobboooon
0000 (x13) 0000 ZjDDDDDDDDDDDDDD
0000000000000 000D Y oooooooo
000000y 0000000000000 0ooooooo
Einstein 00 0000000000000CO0OO0O0O0O0O 40
O00O0O0OEmsteimn 0000000000 0OOOO

Navier-Stokes 10 0000000000000 (x13)
000D00000000D00000 (x5)00 (x6) 00



0000 II0000000020130000

goboooobooboobo rOob0O0o0obOoO0ODbOoD
gooobobobbobooooobbbbboodgd qd
0 *7)00D00 A0 TOODOODOODOODOOOO 70
gboboooooooooooobooooboboobo
goooooobbbbbooobdoooooooooo
ooboobdrob00 voOooooooooboooo
goooobooboobbbbbboodooooooooo
oooOoboooOoboOooOoooooobo 1o0Do
gooooopoobobbbooobooooooooooo
goooooogo

DDDDDDDDDDDDD‘

0000 x7O000O0O0D00O0O00O0ODO0O0OODODO
gbooooboooboobobooooobobooobooon
000000000000 (simple shear flow) OO
OooOobOo0o0oOobOoOooOooOoooo 200000
gboooobod . 0000b0OobOobOobo

{u]-— {if] (4 = const.) (x14)

v

oooooooo

ooono 14
0000000000000 (x14)000000

oooQo 15

000000000000 (z,9) 00 ADOODO
DOO0 AB = (0,Ay) 1000000000 BO
O000ADBOOOO v(B)—v(A)ODOOD

00000 (x14) 0000 AyOOOOOOooOOoOoO
oooooooboooboobOoooOooooooog
0000o0oooooooo“000”0poooooo
oooooooooooboobooobooooooooDg
ooo0oooooooo 200 “00O0”000000
coboooooobooOoobocobooobooooooooona
O0o00oD00O00oo0o0oDO0oDbO0 2000002000
ooooboobooooooooooooybOOoOooOooo
oooooooooooono o, 0000000000
Oo000ooo0odooooooooo0r,, 0000
0du(=4) 00000000000000D0

ou

oooooooag : sz:ua—y:,w'y (x15)

goboobodb pgoboobboobog

EEEEEEEEEEEEEEE

0 (x15)00000000000000000000
0000000000000000000000000
00000 (x15) 0 d,u O

8’[)i
* 8’1}]'

Ozu  Oyu

L 0ooo L:{&v %J (x16)

0000D00oooooDoooooooooog “rd
plLO0000” 00000000000 DOOCOCoOOO0OO
gooooobobobbobbbboboooooooooo
D|:|DDDDDDDDDDDDDDDDDDDDDDDDD
oooooboooboobobooboobooboooon
goboooobobooooooobooooboboogoo
O0o0oooOoooooooooooogoo*d

ood

0000000000000 00000000000000
0000000000000 00000000000000O0
0000000000000 0000000000000o0o0
0000o0000o0o0o00oDoo0o0o0o00oo0ooooooon
o0o00000ooooo0oO000oo0ooooomoooo o

000oO0o0oo0o00o0o0oooooOoO0 Loboooooo
oo0000ooOd-s0LODOOO0O0OOOOOCOOOOOOO

goboogn

gooooobo oboobbooboobboobo
oooobooooboobbooobooboobooon
OO0 X,0000000x0000

_[X] _ [rocos6 Ed
X = [Y} - [rosinﬂ]’ x= [y

goooooo

X | 14+ a1 19 X1
|:Y:|'—>|:y:||: Q21 1+O{22 Y_ (*17)
0000000000000 DO0 «O0D0OD00O00O0 e

obobomobobobobooboooooboobooo
gobobooooogo

Tl _ [To + 1+C¥11 Q12 X—XO

Yy Yo azr l4an||Y -Y
000000000000 000O (x17)oooooo
gboboboooooogb ro0bOobOoOoOoOoODOO

oobooobooooocoooono boooooooboa
oooooooooooDbog 200

*0000000o0o0oOoOoooOooO0oUOooDOooOooOooO
gooooooooooooOoooooooooooooooo
JodoooooooooooooOoOoOonoOooOooo



0000 II0000000020130000

000 : Q=X2+Y? (¥18)
ooog : g=a*+4? (x19)

Codb0bO¢UOOoooooobbocooboooonn

e JO0IOODODOODO
00000 YOOUOODO (e >0)00000
(e < 0)00XOODOODOOODOODDOODODOO
O000O0a=1+ae 000

R R | A

0000 0ODoO00oooogoooooooooo X
ooooyooooooo

00000 ¢qDOO0 (x20)00 (x19) 00000
q=X?+a*Y? (x21)

o0d0 2000000000000 ¢0OOOOOO
gboobOobOooOooooobooooooboooon
0o0oooo (£1,00000 (0,£1) 0000

e JOOOODO
0 (+17)0 ;; 0000w, 000000000 v
goboooooooooooooboo:

X | | X+9Y| |1 ~|X
R e | e
0 (x22)0 (x19)00000 ¢O0000D00000
000 4|« 10004200000f0000

=X’ +29XY +Y? =Q+29XY  (x23)

000000 ¢0000000000000000
000D000000D000000 20000000
00000000000 (x23) 0

%Q+M}ﬂgﬂﬁ} (+23)

00000000000000000000000
0000000000000000000¢0000
0OooDo00o0ooOo (1,1) 000 (1,-1) 0000
000000000000000000000000

tooo ~000000000000O0OC0O0O0O0O00O0OO0

cobomooooooboooobooobooooo
000004500000000000000%00
000000000000000 1++/200000

oooo 16

0 (x22) 0000000000000 0O0O0O0
0(1,£1)0000000000000000
ooooooOoocoooooooo

e JODODO 20000
0 x17)00000000000000000 «O
000000000020000000000 (%23)
ooooO ¢OO0O0O0onon

¢g=Q+[X ﬂ[ 2om au+amﬂx}

Qo1 + a2 2020 Y
1,J
Oo0ooo ooo
1
eij = 5 (aij + aji) (x25)

2

000000000 (+x249)0 2000000000
coooooocoooboboboboboobon
000 ed0D0OO0O0OO0ODOOODODOOO

00000000000000000000000 (x25)
0000000000 «00000000000000
0 (+25) 000000 000000000000000
00000000000000 (0000600000
0000000 {b;} 0000000000 DODOO0O0
0000000 (x17)0000000000000 (x25)
000000000000 0000000000000
00000000000000000000000000
ooo

0000000000200000000000000000

oooooooOoO0OO0O0O02000000000000000
000000e0000 XNDOOOO 1+X 000000000

0O00O00)=1+A)A+X) =1+ + X,

1000000 0(X,Y)000004500000000(=,y) 0
00000000 +/200000000000000 000
0000D0000000000



0000 II0000000020130000

000 (000 |N|«10002000000)0000000
000 M?—(e114e22)N+dete=000000000000
OO0 M4XN, =c11+e20000e11+e22 000000000
0000000000000000000 €= (z,y)—(X,Y)
oooooooodod o OO0Oo (*QS)DDDDDD

9¢1 1 (941 92
€11 €12 = 5 | = B
{ 1 } — { 2 2 ( Yoe ax) (%26)
X

en ex]| 3 (5% + 5% 52
godooooooooooooooooo
0&1 | 0 .
ooodd| =14 — — =1+4d 27
[ ] +8X+6Y +divé (x27)

gooooooogooo
joo0d0ooooooooobooooooooooooon
00D0000000000000 14+diveé 00000000
goooooooooooo

divg >0: 00O
divé <0: 000000
dive=0: 0DOOOOO.

googon

ooooo “000”0 “000”000000000
coboOooooobooOoobocobooobooooooogoono
000000000000 0O0ODOOO000OO0 AtOO
cooboocooboooooooooooo

I |

gobooboooo
=vVAt=---

BBl

Oo000oooooooooooooooooooon
000000000 Taylor 000 100000000
VAL = [ﬁ” émy} F:””O]At (44.1)
yx yyl LY — Yo
000000 (441)0 L0O00 (x16)00000000
ooooooooad
000000000000000000 (zg,y0) 00
D(QO)DDDDDDDDDDDD“DD”DDDDDD

Q= (o +1)] ., (-19)
q= (q;Q + yQ) ‘t (*19/)

goooooooa (44.1')|:||]|:|DD|:|

Do 2o [

yll, 0 1| " |Lya Ly, yll,n,

00000000000000000 (x24)00000

,J

0000000000000 e000oOOoOO0OO00OLO
0000000000 é0000000000000O0
ooooooooooooao

1
éij = 5 (&-fuj + 8jvi) (446/)

oboobooobooboboooooooobocooooooog
oooooooooooooobooooooooooon
oobooooooooobocoooog

oooo 17

00000 (x14)0000 ¢000 00000
_ . [0 4/2
q=Q+ (YAt)zy, €= [“'7/2 0 ]

O00000000000000O0O00000O00

000000000 45000000000000

oooo 18

0000000000000q0O QOUOO0O0O00
000000000000 DObOOoO0ODOoOOoOooOo
0000000000000 D0O000000O0eO
oo0o0o0o0oobOooooooon

(@) (u,v) = (2az + 3ay, —2ay)

(0) () = (ale +1), a(Zz —y))

(0) () = (ale + 1), alz — 1))

goood

oooooooODb e0OOoOoOOOOOOOOOOOO
oooooooooooooobooooooooooOoo
obooooooooobobooboooooooooog
O000000000000000000 Navier-Stokes
000 (40.1)00D00OOOO

gboooooobOobOoboboboooooooon
obooooooooooooobobobooboooog
0000000000000 D0000 (x15) 00000
000000000000 000000D (x14)0000
000000 (x15)0000000000000000
000000000000 000DO (x14)00000
ooobDooobo300ooooooon

0 4/2 0
e=1|4/2 0 0| 0OOOO & =7/2
0 0 O
00000000 (x15) 000000
Toy = 2UE gy (x29)

$0000LO0D000DOOOO 20000



0000 II0000000020130000

000000000000 00000 (x29)00000
oooooooooooooooooo r090000
ooo , 00000000O00000O0000000
coboooooooooobOobobooboooogn
ooooooooood

Tij = 2[UEsj (x30)

0000000000D000000000000000
0000 (x30)00000 (divv=0)00000000
00000000000000000000000 (x37)
00D000MDO (x30) 00 (44.6) 00000

Tij = i (Opvj + 0;v;) (x31)

oooo

20, U, OzVy + Oty Ozv, + 0,0,
T = [t | Oyvz + Oz, 20,y Oyv. + 0.vy
O0xVy + 00, 0,0y + Oyv, 20,0,
gooooooooYoooooOoOooOoODoOoOoooooo
ooooo

oooo 19

0(0)O)0)0o0oO000000 (x31)0000
00000000000000000000000

00000 (x31)000000000DO00DDOOooo
00 (x13) 00000000000 2000000pO
oooood

D 0iTaj = 00 (2p0502) + Oy [0y + Dyvy )]
J + 0. [1(05v2 + 0:vy)]
= 1 (020, + 0y0yvy + 0.0,v.)
+ 1 (020, + 020, + 020
= O divv + (02 + 02 + 92) va
= pAv, (x32)

0oboob0yoob 0000000000000
000 (40.1) 000000000000 OOOO0ODO

oooo 20

0000000000000 (x32)000000n
0000 (40.1)000000000ODOO0OO

YooooooooOoOOOOOOOOOOOOOOOOOOOO
0o00000000oooooooooooOoooboooooooo
OyOgvz = 020yve 00000 0zv,: O v,0, 00000000

ooao

0000000000000 00000000000000
0000000000000000000000000000
00000000000 000000000O:

e J00DDODODODODONOOODODO

e J00D0ODODDODONONODDOODOOODO

e HookeDOOOOOOOoDOOoooooo!Do.
0000000000000000000000000 0

%(div{)&w (+33)

1, .

€ij = (%’ - g(leﬁ)%) +
oo 20000000000 1000000000 DOO
goooooooooooooono

, 1. ;1 p 1
1+>\1—§d1V£, 1+A2—§dlvg, 1+)\3—§d1V£
oo0ooooOOoooOobOoooOobDOooboOoDOoo1oD (o
000)000000000 (x33)0D0 100000000OD
0000000Db0o0o00o0o0D0oooOoooooD (x33)0
020000000000000000000 1+ (divé)/3
goodooobobobbboooooooobooboo
goobooooooob oy 0000000000000
gofdoooooooooooooono

pOi& = (00)+ Y 9504 (x34)
J
0000000000000 00D0O0 o000 (x33)00 1

oo 20000000000D0OO
g00o0ooooooo0oOoooooobD e0O
. . 1 .. 1, .
€ij = (Eij_g(dlvv)(sz‘j> —|—§(d1vv)6ij (*36)

ooo00 20000000 100000000 2000000
oooooooooooooooooooboooooooo

Tij = 24 (éij — é(div v)ciij) + p/ (divv) & (*37)

0000000000000 p000000000@M ' 00
00000000000 (x37)00 (44.6)000000

2
Tij:u(aiijriji)Jr(ﬂ/fgu) (divv) ds5 (x37")
gboboooooboobobobobooooobooobooobooon
00000000000 DO0O0O0O0DDOO (402) 000D
000 (x31)00000obboOoooooo

looooDooDOO0DO0O0 -0 e00000000000000
ooo0ooo0o00000000000O000DO00000000D0
00000000000 HookeOOOODOODOOOOOOOO
0O Hooke Stokes 000 000D0D000DDOOO0ODODOOO



